
                                              WELLAND  GOULDSMITH  SCHOOL  

                                                   CLASS-3 

                                             MATHEMATICS 

                                               ANSWER KEY 

 

1(i)  3   

  (ii) 2 

 

2(i)   750 p 

  (ii)  4075 p 

  (iii) 1500 p 

  (iv) 2610 p 

  (v)  8285 p 

 

3(i)  ₹ 6.65 

  (ii) ₹ 10.00 

  (iii) ₹ 3.25 

  (iv) ₹ 90.20 

  (v)  ₹ 50.50  

 

4(i) 1300p, Thirteen rupees 

  (ii) ₹ 70.00, Seventy rupees 

 

5(i)  ₹ 32.75 

  (ii) ₹ 112.90 

 (iii) ₹ 38.55 

 (iv) ₹ 7.50 

 

6(i) ₹ 36, ₹ 60, ₹ 21,  ₹117 

 (ii) ₹ 12, ₹ 28, ₹ 54,  ₹ 94 

 

 

 



7(i) Money spent on rides     =      ₹ 8 0 . 0 0 

       Money spent on games  =      ₹ 3 5 . 2 5 

       Money spent on food     =   + ₹ 1 0 . 5 0 

                                                  ________ 

       Aman spent in all            =   ₹ 1 2 5 . 7 5 

      _________ 

       Ans. He spent in all is ₹ 125.75. 

 

 

  (ii) Archana gave to the shopkeeper  =    ₹ 1 0 0 . 0 0 

        She bought a pencil box  for          =  - ₹    4 5 . 5 0 

                  __________ 

        Money she got back          =     ₹    5 4 . 5 0 

            __________ 

        Ans. She got back ₹ 54.50 from the shopkeeper. 

                 

 (iii) Cost of 6 balls in a box   =   ₹ 72.00                    12.00 

        Cost of 1 ball              =   ₹ 72.00 ÷ 6 = ₹ 12.00    6  72.00 

        Ans. Cost of each ball is ₹ 12.                             6 

                 12 

                 12 

           00 

 
 


